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https://www.rinya.maff.go.jp/shikoku/content/document/index.htm 1#yakkan

Summary

( ) Official in charge of disbursement of the procuring entity ENDO Junya ,

Director General of Shikoku Regional Forest Office( )
( ) Classification of the services to be
procured : 42 42
( ) Subject matter of the contract Landslide investigation in kashio, Higashiiya,

Miyoshi city, Tokushima prefecture

( ) Time limit for the submission of application forms and relevant documents for the
qualification 5:00 P.M., 18 April 2023
( ) Time limit for the submission of tenders by electronic bidding system 10:00
A_M., 8 May 2023, in case of submission by document 10:00 A.M., 8 May
2023, in case of submission by mail 5:00P.M., 2 May 2023
( ) Contact point for tender documentation Accounting department Shikoku Regional
Forest Office, 1—3—30 Marunouchi Kochi city Kochi prefecture 780 — 8528 Japan.
TEL 088 —821—2011
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3| HRETA RS fiTEREAERLS 0.740| A 55,200 40,848| 55,200 40,848 0.000 0
4| B0 B RSB fiTEREAERLS 1.140 A 45,300 51,642| 45,300 51,642 0.000 0
5|5iEfiC RS fiTEREAERLS 1.770 A 35,600 63,012| 35,600 63,012 0.000 0
6|8 RoBfiTERAERLS 1.770 A 31,600 55,932| 31,600 55,932 0.000 0
22| T RS fiTEREAERLS 1.600] A 32,200 51,520 0 0 0.000 0
&t 262,954 211,434 0.000 0
B fif 1.0 &Y 262,954
BEEAHGE 211,434
ZTDMIZE 91,520
datd (BZ) ZE T IUE®EE03hakl 02 LigdtHatH @=® O
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MFHES 2828 | we 55 Z53EE| 2828 |mesmeEE
Bila#H | BEHE 1-FNo YER D 1.00 YE R BT = aniaussm|| RTENEBE
B & _ 1 o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
5|5iEfiC RS fiTEREAERLS 1.110] A 35,600 39,516| 35,600 39,516 0.000 0
6|8 RSB fiTEREAERLS 1.910] A 31,600 60,356| 31,600 60,356 0.000 0
&t 99,872 99,872 0.000 0
B i 1.0 KLY 99,872
EEAGE 99,872
TS 0
datd (BZ) ZE T IUE®EE03hakl 02 LigdtHatH @=® O
2
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&S 2829 | me 55 EREE| 2020 |EEmnEEE
Bifi&# |BE 1-FNo YER D 1.00 YE R BT = aniaussm|| RTENEBE
B & _ 1 o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER RS fiTEREAERLS 0.500] A 62,200 31,100| 62,200 31,100 0.000 0
4| B0 B RSB fiTEREAERLS 1.010] A 45,300 45753| 45,300 45,753 0.000 0
&t 76,853 76,853 0.000 0
B fi 1.0 KBy 76,853
EEAGE 76,853
ZTDMRE 0
datd (BZ) ZE T IUE®EE03hakl 02 LigdtHatH @=® O
2
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&S 2833 me 55 EREE| 2033 |EEnMEE=E
BilAH JalUEs aE BAEAE 1-FNo YER D 1.00 EREAL| B [manssuszm|| BETENEER
B &I SYRRIET _ 1 o NEEAGE B o= ||[EEDLONES
RSN | % 7 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
2| EEHER RS fiTEREAERLS 0.050] A 62,200 3,110 62,200 3,110 0.000 0
4| B0 B RSB fiTEREAERLS 0.050] A 45,300 2,265| 45,300 2,265 0.000 0
5|5iEfiC RS fiTEREAERLS 0.050] A 35,600 1,780 35,600 1,780 0.000 0
&t 7,155 7,155 0.000 0
B fif 1.0 ERTHY 7,155
BEEAHGE 7,155
ZTDMRE 0
data| (5#)
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&S 2834 me 55 ERES| 2034 |EEnnEE=E
BilAH AU afs HitiRE 1-FNo YER D 1.00 EREAL| B [manssuszm|| BETENEER
B &I SYRRIET _ 1 o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] B [Efu| B m | & %8 | B W | = %8 " BR[| = %
13EE-HiE RS fiTEREAERLS 0.050] A 70,900 3,545| 70,900 3,545 0.050 3,545
2| EEHER RSB fiTEREAERLS 0.050] A 62,200 3,110 62,200 3,110 0.050 3,110
3| HRETA RS fiTEREAERLS 0.100] A 55,200 5520| 55,200 5,520 0.100 5,520
4| B0 B RoBfiTERAERLS 0.100] A 45,300 4530 45,300 4,530 0.100 4,530
5|iEfiC RS fiTEREAERLS 0.150] A 35,600 5,340/ 35,600 5,340 0.150 5,340
6|8 RSB fiTEREAERLS 0.200] A 31,600 6,320 31,600 6,320 0.200 6,320
it 28,365 28,365 0.650] 28,365
B fif 1.0 ERTHY 28,365
EEAGE 28,365
TS 0
data| (5#)
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MFHES 2835 | we 55 Z53EE| 2835 |EesameEE
HEilaH alUEEmatE RYEED 1-FNo YER D 1.00 EREAL| B [manssuszm|| BETENEER
B &I SYRRIET _ 1 o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
4| EMB RS fiTEREAERLS 0.050] A 45,300 2,265| 45,300 2,265 0.000 0
5|iEfiC RSB fiTEREAERLS 0.080] A 35,600 2,848| 35,600 2,848 0.000 0
6|8 RS fiTEREAERLS 0.150] A 31,600 4,740 31,600 4,740 0.000 0
&t 9,853 9,853 0.000 0
B {iff 1.0 BHFFSY 9,853
BEEAGE 9,853
TS 0
data| (5#)
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R ANE- I EVD 3-4-1-2 1% o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 10| #h B ER & A RS fiTEREAERLS 0.050] A 53,800 2,690| 53,800 2,690 0.000 0
* 1M|FEHEREE |ROBMTEELERLE 0.780[ A 39,100 30,498/ 39,100 30,498 0.000 0
504|#1 1 & MBS HEE 1.000[ % 33,188 332 0 O|#T#I & 0.000 0
803| B AT /K&t PCh—F=( 30.000| H 1,735 52,050 0 O|MEWIRE 0.000 0
&t 85,570 33,188 0.000 0
B T 1.0 A8y 85,570
EEAGE 33,188
ZTDMIZE 52,382
data| (&%) 448,000%0.3873/100=1,735
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&S 3223 | me 55 EREE| 3223 |EEnnEE=E
HA {4 #5 | #h R EMEETEA 1-FNo YER D 1.00 YE R BT B aniaussm|| RTENEBE
B & —3-1-2 1% o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1&  [EM| B\ % | B M | = %8 " BR[| = %
* 10| #h B ER & A RS fiTEREAERLS 0.000] A 53,800 0| 53,800 0 0.000 0
* 1M|FEHEREE |ROBMTEELERLE 0.040[ A 39,100 1,564] 39,100 1,564 0.000 0
* 12|t EREE RS fiTEREAERLS 0.040[ A 29,100 1,164] 29,100 1,164 0.000 0
504|#1 1 & HNE LSBT HEE 4.000] % 2,728 109 0 O|#T#I & 0.000 0
806 | Hh 3% m {5t SRL-13(1 /8 H 2% 7500 & 511 3,833 0 O|Hs iR & 0.000 0
&t 6,670 2,728 0.000 0
B T 1.0 [EHY 6,670
BEEAGE 2,728
ZTDMIZE 3,942
data| (f&%) 132,000%0.3873/100=511
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&S 3224 | me 55 EREE| 3224 |EEnnEE=E
B4 5 | MR BHEET & 2R 31-FNo YER D 1.00 {E R BT A e IlpE = | ST ETE =k
B & -3-1-3 1% o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B [Efu| B m | & %8 | B W | = %8 " BR[| = %
* 10| #h B ER & A RS fiTEREAERLS 0.100] A 53,800 5,380| 53,800 5,380 0.000 0
* 1M|FEHEREE |ROBMTEELERLE 0.200f A 39,100 7,820 39,100 7,820 0.000 0
* 12|t EREE RS fiTEREAERLS 0.200f A 29,100 5820/ 29,100 5,820 0.000 0
504|#1 1 & HNE LSBT HEE 1.000( % 19,020 190 0 O|#T#I & 0.000 0
&t 19,210 19,020 0.000 0
B T 1.0 AZY 19,210
EEAGE 19,020
ZTDMRE 190
data| (5#)
2
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&S 3228 me 55 EREE| 3228 |EEmnEEE
Hifa# ([BAKERARVEHEZE 1-FNo YER D 1.00 EREGI| & A aniaussm|| RTENEBE
B & 5-1-1-1(2) 1 & NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 12|t EREE RS fiTEREAERLS 0.550[ A 29,100 16,005/ 29,100 16,005 0.000 0
* 22| T RSB fiTEREAERLS 0.300[ A 32,200 9,660 0 o|Fm#HE 0.000 0
504|#1 1 & MBS HEE 1.000[ % 25,665 257 0 O|#T#I & 0.000 0
802| BELFREETiEF  |infEI<RHE 30.000] H 968 29,040 0 O| IR E 0.000 0
&t 54,962 16,005 0.000 0
B fi 1.0 HALY 54,962
EEAGE 16,005
ZTDMIZE 38,957
data| (f&%) 250,000%0.3873/100=968
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&S 3271 | me 55 EREE| 3211 |EEnnEE=
BE{mL % | FLNERIETER A 1-FNo YER D 1.00 YE R BT =] e IlpE = | ST ETE =k
# & |50mLlA 3-3-4-2 1% o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 1M[FEHERES |ROBMEREERL 0.100] A 39,100 3,910 39,100 3,910 0.000 0
* 12| EREE RSB fiTEREAERLS 0.100f A 29,100 2,910 29,100 2,910 0.000 0
504 | ¥ & MBS HEE 1.000[ % 6,820 68 0 O|#T#I & 0.000 0
798| FLNERIET (707", #ETE, 57 450m) 0.100[ * 6,236 624 0 O| IR E 0.000 0
&t 7,512 6,820 0.000 0
B i 1.0 @HY 7,512
BEEAHGE 6,820
TS 692
data| (f&%) 1,610,000%0.3873/100=6,236
2
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&S 3272 | me 55 EREE| 3212 |EEnnEE=
BEmAF |FLNIERETE B 2R 31-FNo YER D 1.00 {E R BT A e IlpE = | ST ETE =k
B & 3-3-4-3 1% o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 10| #h B ER & A RS fiTEREAERLS 0.200] A 53,800 10,760/ 53,800 10,760 0.000 0
* 1M|FEHEREE |ROBMTEELERLE 0.500[ A 39,100 19,550 39,100 19,550 0.000 0
* 12|t EREE RS fiTEREAERLS 0.500[ A 29,100 14,550 29,100 14,550 0.000 0
504|#1 1 & MBI HEE 1.000( % 44,860 449 0 O|#T#I & 0.000 0
&t 45,309 44,860 0.000 0
B fi 1.0 AZY 45,309
EEAGE 44,860
TS 449
data| (5#)
2
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BE{mL % | FLNERIETER A 1-FNo YER D 1.00 YE R BT =] e IlpE = | ST ETE =k
t# __ 5& [50miB60m LA 3-3-4-2 2 & NERAHE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 1M[FEHERES |ROBMEREERL 0.120 A 39,100 4692 39,100 4,692 0.000 0
* 12|MERES RSB fiTEREAERLS 0.120 A 29,100 3,492| 29,100 3,492 0.000 0
504 | ¥ & MBS HEE 1.000[ % 8,184 82 0 O|#T#I & 0.000 0
798| FLAMERIET (707", #ETE, 57 450m) 0.100[ * 6,236 624 0 ol E 0.000 0
&t 8,890 8,184 0.000 0
B fi 1.0 [EHY 8,890
BEEAHGE 8,184
TS 706
datal (f&%) 1,610,000%0.3873/100=6,236 & 1F {%2X50mHB60LLA 1.15
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BRAF [\ A TEEICKDFAE A 1-FNo YER D 1.00 YE R BT B aniaussm|| RTENEBE
B & _ 1 o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 1M[FEHERES |ROBMEREERL 0.040| A 39,100 1,564| 39,100 1,564 0.000 0
* 12| EREE RSB fiTEREAERLS 0.040 29,100 1,164] 29,100 1,164 0.000 0
504 | ¥ & MBS HEE 1.000[ % 2,728 27 0 O|#T#I & 0.000 0
808|EBITE 2 INMTVTHETH 0.040[ & 593 24 0 O| IR E 0.000 0
&t 2,779 2,728 0.000 0
B T 1.0 @HY 2,779
BEEAHGE 2,728
TS 51
data| (f&%) 153,000%0.3873/100=593
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BRAF [\ATEFFICKIFAE EHEE 1-FNo YER D 1.00 YE R BT A aniaussm|| RTENEBE
B & _ 1 o NEEAGE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 10| #h B ER & A RS fiTEREAERLS 0.100] A 53,800 5,380| 53,800 5,380 0.000 0
* 1M|FEHEREE |ROBMTEELERLE 0.200f A 39,100 7,820 39,100 7,820 0.000 0
* 12|t EREE RS fiTEREAERLS 0.300[ A 29,100 8,730 29,100 8,730 0.000 0
504|#1 1 & HNE LSBT HEE 1.000( % 21,930 219 0 O|#T#I & 0.000 0
&t 22,149 21,930 0.000 0
B fi 1.0 AZY 22,149
BEEAHGE 21,930
ZTDMRE 219
data| (5#)
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&S 3352 | me 55 EREE| 3352 |EEnnEE=E
B4 [BEmEBR RV EEE 1-FNo YER D 1.00 YE R BT = aniaussm|| RTENEBE
(I _ i i NEEZAHE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 15381 = F F 6 RS fiTEREAERLS 0.010] A 51,000 510/ 51,000 510 0.000 0
* 16| 8| S HiEm RSB fiTEREAERLS 0.130] A 44,000 5,720| 44,000 5,720 0.000 0
* 17| 8| E B RS fiTEREAERLS 0.140| A 34,300 4802] 34,300 4,802 0.000 0
* 18RI EBNF RoBfiTERAERLS 0.170[ A 32,200 5474 32,200 5474 0.000 0
500(FEHE MBS HEE 8.500] % 16,506 1,403 0 0| ZDIRE 0.000 0
&t 17,909 16,506 0.000 0
B fi 1.0 |5Y 17,909
BEEAHGE 16,506
TS 1,403
data| (f5%) 1/35mEY HBEE+BEEREMAE
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HMAF [GPSE R R U &R EE 1-FNo YER D 1.00 YE R BT B aniaussm|| RTENEBE
(I _ i i NEEZAHE B o= ||[EEDLONES
RSN | % 71 ] 1& B = |BEfu| B W | = %8| 2 W | & %8 " BR[| = %
* 15381 = F F 6 RS fiTEREAERLS 0.200] A 51,000 10,200/ 51,000 10,200 0.000 0
* 16| 8| S HiEm RSB fiTEREAERLS 0.850] A 44,000 37,400| 44,000 37,400 0.000 0
* 17 S 60 RS fiTEREAERLS 1.700 A 34,300 58,310| 34,300 58,310 0.000 0
* 19 AEMHME RoBfiTERAERLS 1.050 A 27,000 28,350| 27,000 28,350 0.000 0
500(FEHE MBS HEE 13.000] % 134,260 17,454 0 0| Z DR E 0.000 0
&t 151,714 134,260 0.000 0

B fif 1.0 EHY 151,714

BEEAHGE 134,260

TS 17,454

data (&%) 1/10m &Y HEEE+EEEREMHE
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W BN | 2 i H E |HEfu| B m | & % | B m | = %= ® B% | = %
32[5 4/ 4E%1.50 (1500 cc 8.000| H¥[H 527 4216 0 0[126.9%2/30=8.46|] 0.000
31|AVY 20.800] L 147 3,058 0 0]2.60%8.00=20.80|| 0.000
&t 7,274 0 0.000 0
B fiff 1.0 H&Y 7.274
BEEAHGE 0
ZDMIEE 1,274
data| (f&Z) BTt ~IRIE 126.9km £ HZ20H 0.047kw*56kw=2.60
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2814[5 A b/ N\ 1EH 20.000| H 7,274 145,480 0 0/4.5%30/7=19.28|| 0.000 0
&t 145,480 0 0.000 0
B i 1.0 KBy 145,480
EEAME 0
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